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Question: 1

LDR is an acronym for:

A. lowest daily regulation
B. least daily radiation

C. lethal dose residual

D. land disposal restrictions

Answer: D

Occupational Roentgen Equivalent Man (Rem) dose limitation allowed for a worker employed for 10

years at a nuclear waste handling facility is?

A. 50 Rem
B. 25 Rem
C.10Rem
D.5Rem

Answer: A

Which of the following is not a physical environmental stressor in the workplace?

A. oxidation-reduction
B. noise

C. radiation

D. vibration

Answer: A

Question: 4

Which of the following is incorrect?
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A. DOT considers hazardous materials to be a subset of hazardous waste

B. DOT regulations minimize dangers to life and property during transit

C. EPA regulations protect human health and the environment

D. DOT uses "shipper" and "transporter" instead of "generator" and "transporter"

Answer: A

Occupational exposure to asbestos fibers has not been linked with:

A. mesothelioma (lung cancer/malignancy)

B. pleural effusion (collection of fluid in the lung)
C. asbestosis (white lung)

D. melanoma (skin cancer)

Answer: D

Question: 6

DOT Labels and DOT Markings:

A. are the same thing when used for transporting goods

B. are not required when a placard is in place

C. are different methods of communicating hazards on packages

D. are different: labels are for non bulk packages and marks are for bulk packages

Answer: C

Question: 7

The exposure rate at a distance of 1 foot from a radioactive source is 20 rnR/hr. What is the exposure

rate in mR/hr. at 10 feet?

A.0.1
B.0.2
c.o3
D.0.4

Answer: B
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Question: 8

Which waste treatment technology is not used to separate and concentrate contaminants?

A. thermal desorption
B. incineration

C. carbon absorption
D. solvent distillation

Answer: B

Question: 9

Within the incident response system, who is the most important decision maker?

A. SERC liaison

B. Incident commander

C. The Official EPA on-site representative
D. LEPC Coordinator

Answer: B

Question: 10

Which of the following is not a Category | potentially infectious material?

A. saliva in dental procedures

B. semen

C. vaginal secretions

D. vomitus which is not visibly contaminated with blood

Answer: D

Question: 11

Which of the following major organ systems and toxins that impact them is incorrect?

A. endocrine system - PCBs, DDT, phthalates, phenols, PVC, lead and cadmium
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B. hematopoietic (blood forming system) - carbon monoxide, lead, cyanide, nitrites, aniline, methylene
chloride, carbon disulfide, arsenic, and benzene

C. hepatic system (liver) - chlorinated hydrocarbons, alcohols, carbon tetrachloride

D. lymphatic system - asbestos, silica, ammonia, chlorine, cotton fibers, coal dust, ozone

Answer: B

What should be done if the large quantity generator does not receive a final copy of the manifest from
the disposal facility?

A. nothing, the generator is not responsible

B. change disposal facilities

C. contact the disposer within 35 days after shipping & file within 45 days
D. none of the above

Answer: C

During waste removal for non-acutely RCRA hazardous empty containers, which of the following
conditions does not have to be met?

A. Triple rinsing of container with a suitable solvent

B. Less than 2.5 centimeter (1 inch) remains

C. Less than 3% by weight if less than 110 gallon container

D. Less than 0.3% by weight if more than 110 gallon container

Answer: A

Question: 14

For a 40-hour work week, TLV is:

A. the airborne concentration of a substance with specified conditions under which it is believed that
nearly all workers may be exposed day after day without adverse effects

B. the airborne concentration of a substance set by OSHA as an enforceable standard which may not be
exceeded

C. the lowest dose of a substance introduced by any route other than inhalation, over a given period of
time, and reported to produce any toxic effect in humans or carcinogenic, neoplastigenic, or teratogenic
effects in animals or humans
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D. is the dose of a material at which 50 percent of test animals die.

Answer: A

In a laboratory, engineering controls would not include:

A. general ventilation
B. fume hoods

C. glove boxes

D. hazard identification

Answer: D
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